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ENGLISH ESSAY, PRECIS WRITING AND COMPOSITION
Time Allowed — 3 Ho_;g_’s Full Marks — 100

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

(Do not write your name, address etc. anywhere inside the
answer book. Write X, Y, Z if necessary)

The figures in the margin indicate marks for each question.

1. Write an essay on any one of the following topics: 35
(a) The effect of Lockdown on the life of people
(b) Uses and Abuses of Science
(c) Importance of sports in our lives

(d) Will the habit of reading disappear?

2. Attempt a précis of the following passage and suggest a suitable title for it (use the précis sheet
supplied): 25+5=30

It is not the men who succeed that are always worthy of estimation. The men who fail in a worthy
cause continue to exercise a potent influence on their race. The leader of the forlorn hope may fall
in the breach, but his body furnishes the bridge over which the victors enter the citadel; the martyr
may perish on the stake, but the truth for which he dies may gather new lustre from his sacrifice.
The patriot may lay his head upon the block and hasten the triumph of the cause for which he
suffers. The memory of a great life does not perish with the life itself, but lives in other minds. The
ardent and the enthusiastic may seem to throw their lives away; but the enduring men continue the
fight and enter in and take possession of the ground on which their predecessors sleep. Thus, the
triumph of a just cause may come late, but when it does come, it is due to the men who have failed
as well as to the men who have eventually succeeded.

3. Read the following passage and answer, in your own words, the questions that follow at the end:
5x4=20

There is nothing which we receive with so much reluctance as advice. We look upon the man who
gives it to us as offering an affront to our understanding and treating us like children or idiots. We
consider the instruction as an implied censure, and the zeal which any one shows for our own good
on such an occasion as a piece of presumption or impertinence. The truth of it is, the person who
pretends to advise, does, in that particular instance, exercise a superiority over us, and can have no
other reason for it, but that, in comparing us with himself, he thinks us defective either in our
conduct or our understanding. For these reasons, there is nothing so difficult as the art of making
advice agreeable: and indeed, all the writers, both ancient and modern, have distinguished themselves
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among one another, according to the perfection at which they have arrived in this art. How many
devices have been made use of, to render this bitter potion palatable! Some convey their instructions
to us in the best-chosen words, others in the best harmonious numbers: some in points of wit, and
others in short proverbs.

But among all the different ways of giving counsel, I think the finest, and that which pleases the
most universally, is fable, in whatsoever shape it appears. If we consider this way of instructing or
giving advice, it excels all others, because it is the least shocking, and the least subject to those
exceptions which I have mentioned before.

(a) What is the reason for our disliking advice from others?

(b) What are the various devices for making advice agreeable?

(c) What is the best manner of offering advice?

(d) What does the writer mean by “implied censure”? What is a “fable™?

4. Amplify the idea contained in any one of the following statements: 15
(a) A rolling stone gathers no moss.
(b) Let sleeping dogs lie.
(¢) The proof of the pudding is in the eating.
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Time Allowed — 3 Hours Full Marks — 100

If the questfons_gt_empzed are in excess of the prescribed number, only the questions
attempied first up to the prescribed number shall be valued
and the remaining ones ignored.

The figures in the margin indicate marks for each question.

Do not write your name, address etc. anywhere inside the answer book. Write X, Y, Z if necessary.

BENGALI ESSAY, PRECIS WRITING AND COMPOSITION
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Wealth is no doubt necessary for happiness in life. But it has a tendency to concentrate in the hands
of a few. The result is the rich become richer and the poor poorer. This is certainly a misuse of
wealth. It should be fairly distributed among all, so that it may bring happiness to the greatest
number of people in the society. The question is, how can there equitible distribution of wealth in
this unequal world? Can it be achieved by ensuring proper remuneration of labour? Answers are
plenty as are the questions. But, the schism between the rich and the poor remains and still people
continue to dream.

HINDI ESSAY, PRECIS WRITING AND COMPOSITION
1. Write an essay on any one of the following subjects: 35
(%) Hifea iR 39 % FY e
() T % frdro § wfeenst w5 g
() 2w ¥ AR F wHE FATEE

2. Write an imaginary dialogue between two friends on any one of the following topics: 10
(%) TR FfaS -19 Fl qied
(@) e wifa ST e seen

3. Write the meaning of the following phrases and make the sentences with them: 10
(%) gt & =i
(@) HER 3
(1) I % HE FAC

(%) el HEeEt @Al
(® =I™@UE

4. Make aprécis of the following passage and write a suitable title (Use the précis sheet): 25
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5. Translate into Hindi: 20

Wealth is no doubt necessary for happiness in life. But it has a tendency to concentrate in the hands
of a few. The result is the rich become richer and the poor poorer. This is certainly a misuse of
wealth. It should be fairly distributed among all, so that it may bring happiness to the greatest
number of people in the society. The question is, how can there equitible distribution of wealth in
this unequal world? Can it be achieved by ensuring proper remuneration of labour? Answers are
plenty as are the questions. But, the schism between the rich and the poor remains and still people
continue to dream.

URDU ESSAY, PRECIS WRITING AND COMPOSITIONS

1. Give the precis of the following passage with a suitable title: 20+5=25
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2.Write an essay on any one of the following: 35
Ubstsidesl (L)
J"f.m‘ (._.«)
u':’7f7-g )
MEEST )

3. Write an imaginary dialogue of two friends on amy one of the following:
10

. s1y9 (AN)
LSy ()

=2 (@)

B SIS0 157 S €)

4. Give the meaning of any five of the following and use them in your
own sentence: 10

~taand5sd LEIL ~t A ~tre T Tt S Tt ST
S it

5. Translate into Urdu 20

Wealth is no doubt necessary for happiness in life. But it has a tendency to concentrate in the hands
of a few. The result is the rich become richer and the poor poorer. This is certainly a misuse of
wealth. It should be fairly distributed among all, so that it may bring happiness to the greatest
number of people in the society. The question is, how can there equitible distribution of wealth in
this unequal world? Can it be achieved by ensuring proper remuneration of labour? Answers are
plenty as are the questions. But, the schism between the rich and the poor remains and still people
continue to dream.
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' NEPALI ESSAY, PRECIS WRITING AND COMPOSITION

1. 1 uZerfy frey ereey
(%) TAtEo T I
(@) wremger T e ArsiR! Tra
(1) ifaRwfas qHa

2. fruferfaa favgee 788 $4 o farmfy g3 fasswes 9 81 FuFE a1 g=Es &
T :
(%) FIfag T 79 TUH TH
(=) fefsee sf-am wias

3. (%) Trafafed v=ees fawliad v=es ey
3@, afem, SHt, JEan, Bl

(@) Fafafas r=ees T FEEN:
FOY, agTe, fagams, gy, HEw |

L

4. Write a précis of the following passage with a suitable title: 20+5=

HYROIE: | T A 372 T3S # U At 331 far=mn 9at e i @, 7 9a w9 5
J | T FHE WIEEE 1 TR Senartad AfefE ¥ arE e gEm W AT e 1r
Ty T TR T SAfREE A TS | WHEd, WHadEE, AHadEe) s g e
e fafiu= w9 g7 | T mif vt @) safaaee 3y e s aR- e fufrae, g sase
firgame fifeTey, smae-forae) fem fufeut 3 afade o | Srewf i w3 Sara whue s
WIH T Afad | =H SR B Y@t foeeEend 3uEl FHEl STufiysEal guidel ¥ TR
At mi yeEes B9, & B e |

5. Translate into Nepali

Wealth is no doubt necessary for happiness in life. But it has a tendency to concentrate in the han
of a few. The result is the rich become richer and the poor poorer. This is certainly a misuse

wealth. It should be fairly distributed among all, so that it may bring happiness to the greate
number of people in the society. The question is, how can there equitible distribution of wealth
this unequal world? Can it be achieved by ensuring proper remuneration of labour? Answers a
plenty as are the questions. But, the schism between the rich and the poor remains and still peop
continue to dream.
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GENERAL KNOWLEDGE AND CURRENT AFFAIRS

Time Allowed — 3 Hours Full Marks — 100

_—
If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

Answers may be written either in English or in Bengali but all answers
must be in one and the same language.

Group-A
1. Who are the authors of the following books? 1x10=10
(1) Divine Comedy
(11) The Prince
(iii) As You Like It
(iv) The India Way — Strategies For An Uncertain World
(v) Hindu Patriot: Background of Gandhiji’s Hind Swaraj
(vi) Social Contract
(vii) Hind Swaraj
(viii) Glimpses of the World History
(ix) AN ERA OF DARKNESS: The British Empire in India
(x) OF HUMAN BONDAGE
2, Short Questions: 2x5=10
(i) Who were the prominent extremist leaders of the Indian Freedom Struggle?
(ii) What do you know about Home Rule Movement (1915-1916) of India?
(iii) What are the six Vendangas?
(iv) Who were the most famous Philosophers of Greece?
(v) What do you know about Magna Carta of 1215?
3, Who's who: (short informations about the following persons) 3Ix5=15
(i) Arya Rajendran
(il) Md. Siraj
(iii) Vedanta Patel
(iv) Lionel Messi

(v) Dr. Cyrus S. Poonawalla
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4. Short Answer: | 4x5=20
(i) The English Bill of Rights of 1689

(i) “Young Ital;f_ Movement

(iii) Which Indian State (Province) is empowered to arrange third stage trial of Sputnik V? Mention
the name of the Hospital.

(iv) Mention the names of the Indian States (Provinces) where Assembly Election will be tentatively
held in 2021.

(v) What do you know about 50th Victory Day of Bangladesh?
5. Answer the following questions: 5x5=25
(i) Mention the name of the scholar who first used the term ‘Indus Civilization'?
(ii) Mention the export products of Indus Civilization. :
(iti) What are the seven elements (Saptanga) of state as explained by Kautilya?
(iv) What were the literary influences on Gandhi?

(v) Mention the names and the basic contents of four vedas.

Group-B
6. Attempt any nWo questions: 10x2=20
(i) Write a note on the Cabinet Mission Plan of 1946.
(i1) Explain the writs under the Right to Constitutional Remedies of the Indian Constitution.

(iti) Who were the famous Socio-Religious Reformers of India during 19th & early 20th Century?
Discuss their activities in brief.

(iv) Write a note on Jallianwala Bagh massacre of April 3,1919.
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BUSINESS MATHEMATICS AND STATISTICS

Time Allowed — 3 Hours Full Marks — 100

1. (a)
(b)
2. (a)
(b)
3. (&)
(b)
4. (a)
(b)
5. (a)
(b)
20596

If the questions attempted are in excess of the prescribed number, only the questions
attempted first up to the prescribed number shall be valued
and the remaining ones ignored.

Answers may be given either in English or in Bengali but all answers
must be in one and the same language.

Answer any ten questions.

1 x—1 x+2
1 . ! 1 — | — 1 v
A function f:R | 2}—»&215 defined as f( 2“1} —— - Find the value of f(2x + 5).

x+1

Find the domain of definition of the function f(x)= ——
. J(x- ~9x + 20)

5x+r°,when x<2

5+5=10

Can you find a real value of r for which the function f(x) ={ will be

2x+4, whenx>2
continuous at x = 27

5+5=10

i LN T

Find the vglue of lim g

x=0 x

The letters of the word “EDUCATION" are arranged at random. Find the probability that
there will be exactly 4 letters between A and E.

A company daily manufactures 500, 1000 and 2000 units of a certain product in three plants
X, Yand Z, respectively. The probabilities of defective outputs produced by the three plants are
respectively 0.005, 0.008 and 0.01. If a product is randomly selected from a day’s total

production and found to be defective, find the probability that it was selected from the plant Y.
5+5=10

A person throws 4 coins simultaneously. If the outcome contains odd number of heads then the
person will earn Rs. 10, otherwise he will earn Rs. 5. What will be his expectation of earning?

If @ and b are two constants, prove that Var(ax + b) = a* Var(x), where Var(x) stands for the
variance of x. 5+5=10
5 4 2
If A=| 4 5 -2 show that A2 —114+107=0. Using this result, find A~ .
-2 -2 2
Solve the following system of equations by Cramer’s rule: 5+5=10
2x—-y+z=3
x+3y-2z=0
4x+2y-z=4
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6. (a) The lines of regression of y on x and x on v are y = x + 5 and 16x = 9y — 94 respectively. If the

10.

11.

(b)

(a)
(b)

(a)
(b)

(a)

(b)

(b)

variance of y is 16, find the variance of x and the covariance of x and y.

The following table displays the marks of 10 students in subject A and subject B. Calculate the
rank correla@_ coefficient. 5+5=10

Roll No. 1 2 B 4 5 6 7 8 9 10

Subject A | 80 50 48 68 50 25 90 50 48 72

Subject B | 66 45 60 57 45 30 82 45 57 61

Find the mean and standard deviation of first n positive integers.

Find the moment skewness from the following distribution table: 5+5=10

Class 0-10 10-20 20-30 30-40

Frequency 1 3 4 2

Prove that the value of correlation coefficient lies between —1 and 1.

To find the correlation coefficient between two variables x and y from 12 pairs of observations,
the following results are given:

Y x=30,% y=53 x> =670, % y* =285, 3 xy=334.

Then, it is observed that one pair of observation: x =11, v =4 is wrongly taken, while the correct

values are x = 10 and y = 14. Find the correct value of the correlation coefficient. 5+5=10
-

The percentage of failure in an examination is 40. What is the probability that out of a group of
6 candidates at least 4 passed the examination?

Let X be a Poisson variable which satisfies P(X =2) =9 P(X =4) 4+ 90 P(X = 6). Find the mean
and variance of X. 545=10

Prove that for any two positive numbers, AM > GM > HM, where AM, GM and HM stand for
the arithmetic mean, geometric mean and harmonic mean respectively.

The mean and variance of 5 observations are respectively 4-4 and 8-24. If the three observations
are 1, 2 and 6, find the other two observations. 5+5=10

Find the mean deviation of the following data about the median:
85,26, 29, 79, 46,65, 73, 59,39,

The mean and standard deviation of a group of 50 observations are respectively 54-4 and 8. On
the other hand. the mean and standard deviation of another group of 100 observations are 50-3
and 7 respectively. Find the mean and standard deviation of the total 150 observations, taking
both the groups together. 545=10
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AUDITING

Time Allowed — 3 Hours Full Marks — 100

-
If the questions attempted are in excess of the prescribed number, only the questions

attempted up to the prescribed number shall be evaluated
and the remaining ones ignored.

Answers may be given in English or Bengali, but all answers must be in one and the same language.

(b)
(c)

2. (a)
(b)

(c)
3 (@
(b)

(b)
(c)
(d)

5. (a)

(b)

Answer any five questions.

Define internal control. What are the basic elements of an internal control system?
What are the different types of audit tests?
What are the purposes of audit working papers? 10+5+5=20

“Youching is very often described as the essence of auditing.”"—Elucidate the statement,
How would you vouch the following items:

(1) Acquisition of land and building

(11) Bad debts recovered
What is audit in depth? What are its advantages and disadvantages? 5+5+10=20

How is the first auditor of a company appointed?

What is casual vacancy? How is the casual vacancy of an auditor of a company can be filled
up?

Briefly mention about the rights of a company auditor. 5+5+10=20

Can dividend be paid out of the capital profit? Elucidate your answer with relevant provisions
of the Companies Act.

Distinguish between Auditor’s Report and Auditor’s Certificate.
In the context of auditor’s report, explain the meaning of true and fair view.
What are the different types of audit report? 545+5+5=20

Briefly mention the important points that an auditor needs to consider while conducting
audit of a charitable hospital.

What is management audit? What are its objectives? 12+8=20

6. Write short notes on any four of the following: 5x4=20

(a)
(b)
(c)
(d)
(e)
(H
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Comptroller and Auditor General of India
Auditor’s independence

Distinction between Investigation and Auditing
Ohjectives and importance of standards on auditing
Government Audit

Certificate of Corporate Governance
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